SCATTER GRAPHS
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1.
4 Sean has drawn a time series graph to show the numbers, in thousands, of visitors to a
fun park.
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Write down two things that are wrong or could be misleading with this graph.

{Total for Question 4 is 2 marks)

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Higher Tier
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2 Sean has information about the height, in cm, and the weight, in kg, of each of ten rugby players.
He is asked to draw a scatter graph and a line of best fit for this information.

Here is his answer.
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Sean has plotted the points accurately.
Write down two things that are wrong with his answer.
1
2
{Total for Question 2 is 2 marks)
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1 The scatter diagram shows information about 12 girls.

It shows the age of each girl and the best ime she whes to run 100 metres.
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Koristina is 11 yvears old.
Her best ime to run 100 metres is 12 seconds.

The point representing this information would be an outlier on the scatter diagram.

(b) Explain why.

Deebbie is 15 years old.
Drebbie says,
“The scatter diagram shows I should take less than 12 seconds to run 100 metres.™

(c) Comment on what Debbie says.

{Total for Question 1 is 3 marks)

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
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1 The scatter graph shows the maximum temperature and the number of hours of sunshine
in fourteen British towns on one day.
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Omne of the points is an outlier.

(a) Write down the coondinates of this point.

(1)
(b} For all the other points write down the type of correlation.

(1)



(In the same day, in another British town, the maximum temperature was 16.4°C.

(c) Estimate the number of hours of sunshine in this town on this day.

hours

A weatherman says,
“Temperatures are higher on days when there is more sunshine.”™

(d) Does the scatter graph support what the weatherman says?
Giive a reason for vour answer.

(Total for Question 1 is 5 marks)

Pearson Edexcel - Specimen Papers Set 2 - Paper 3 (Calculator) Higher Tier
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£ Katie measured the length and the width of each of 10 pine cones from the same trea.
She used her results to drawr this scatter graph.
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(a) Descnbe one improvement Katie can make to her scatter graph.

(1)

(b} Explain hovw the results for this pine cone differ from the results for the other pine
cones.

(1)
(Total for Question 5 is 2 marks)

Pearson Edexcel - Specimen Papers Set 1 - Paper 3 (Calculator) Higher Tier
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The scatter dingram shows information about 10 students.

For cach student, it shows the number of hours spent revising and the mark the student

achicved in the Spanish test.

Y
100

Mark

E £ &8 2 2 8
x

nooz 4 & F ID 12 14 16 IR

Hours spent revising

One of the points is an outlier,
{a) Write down the coordinates of the outlier.
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For all the other points
(b} (i) draw the line of best fir,

(i) describe the cormelation.

A different student studies for % hours.

{c) Estimate the mark gained by this stedent.

The Spanish test was marked out of 100
Lucia says,
“I can see from the graph that had [ revised for 18 hours 1 would have got full marks.”

(d} Comment on what Lucia says,

(Total for Question 1 is 5 marks)

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier
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4 Ina survey, the outside temperature and the mmnber of units of elecmicity wsed for
heating mrare recorded for ten homes.

The scater diagram shows this informarien.
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Molly says,
“Om average the number of unirs of elecmicity nsed for heanng decreases by 4 1mirs
for each *C increase in outside temperanmoe.”

(2) Is Molly righe?
Show how you get your answer.

(3}

() You should mot use a line of best fit to predict the number of anits of eleciricity used
for beating when the outside temperanmoe is 30 °C.

Give one reason why

1)
(Total for Question 4 is 4 marks)

Pearson Edexcel - Friday 6 November 2015 - Paper 2 (Calculator) Higher Tier
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2 A delivery dnver records for each delivery the distance he doves and the time taken.

The scatter graph shows this information.

&0

55

50

45

40

35

Time £

(mimaites) 30 x

25 E. 31

20

15 =

10

1] 2 4 i) E 0 12 14 18

18 20 22 24 26

Dhstance (alometres)

For another delivery he drives 22 knlometres and takes 50 ndmates.

(b} What type of comrelation does the scatter graph show?

(1)

(1)

The dnver has to dome a distancs of 10k for his next daliery.

() Estimate the fime taken for this delrary.

2

Dhunng ons of the delienes, the driver was delayved by road works.
(d) Using the graph wnite down the time taken for this delivery.

(1)
(Total for Question 2 is 5 marks)
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6 The scatter graph shows mmformation about the age and the price of each of 12 cars
of the same model
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() Deseribe the relationship between the age of a car and 1ts pnice.
1
A different car of the same modal 15 3 5 Years old.
(b} Estimate the price of this car.
F A -

(Total for Question 6 is 3 marks)

Pearson Edexcel - Friday 7 November 2014 - Paper 2 (Calculator) Higher Tier
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2 The scatter graph shows some mformation about ten pine cones from the same tree.
It shews the length and the width of each pine cone.
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(a) Describe the relationship between the length and the width of a pine cone.

0y
Another pine cone from this tree has a length of 8.4 em.
i) Estimate the width of this pine cone.

(Total for Question 2 is 3 marks)

Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier
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1 The table shows the average temperamre on each of seven days and the number of units
of gas used to heat a house on these days.
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(a) Complete the scatter graph to show the information in the table.

The first 5 points have been plotied for you.
(1)

(b) Drescribe the relationship berween the average temperamre and the number of units of
zas used

(1)

{c) Estimate the average temperatare on 8 day when 12 units of gas are used.

{Total for Question 2 is 4 marks)

Pearson Edexcel - Wednesday 6 November 2013 - Paper 1 (Non-Calculator) Higher Tier
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2 A publisher checks documents for errors.

He pecords the number of documents that are checked cach day.
He also records the total number of errors in the docurments each day.
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On another day 90 documents are checked.
There is a todal of 17 errors.
{a} Show this information on the scatter graph.
{1y

(B} Describe the correlation between the number of documents checked and the total
number of errors,

iy
Omne day 110 documents are checked.

{c) Estimate the total number of errors in these documents.

(Total for Question 2 is 4 marks)

Pearson Edexcel - Friday 14 June 2013 - Paper 2 (Calculator) Higher Tier
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3 The scatter graph shows some information about 10 cars, of the same type and make.
The graph shows the age {years) and the value (£) of sach car.
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The table shows the age and the value of two other cars of the same type and make.

age (vears) 1 33
value (£) B200 2000

{a) Om the scatter graph, plot the information from the table.
i)

{b) Describe the relationship berween the age and the value of the cars.

(1)
hwﬂﬂmmwﬂmﬂhi% years old.
{c) Estimaie the value of the car.

£
2)

{Total for Question 3 Is 4 marks)

Pearson Edexcel - Thursday 28 February 2013 - Paper 1 (Non-Calculator) Higher Tier
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2 The scatter graph shows information abowt 10 apartments in a city.

The graph shows the distance from the city centre and the monthly rent of cach
aparimen.
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The table shows the distance from the city centre and the monthly rent for two other
aparimenis.

Distance from the city cemtre (km) 2 il
Monthly remt (£) 250 190

{a) Om the scatter graph. plot the information from the table.
iy

{b) Deseribe the relationship between the distance from the city centre and the monthly rent.

(i)

An apartment is 2.8 km from the city centre.
{c) Find an estimate for the monthly rent for this apartment.

{2)

{Total for Question 2 is 4 marks)




Pearson Edexcel - Tuesday 6 November 2012 - Paper 1 (Non-Calculator) Higher Tier
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2 The scatter graph shows information about the height and the arm length
of cach of & students in Year 11
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{a) What type of correlation does this scatter graph show?

(1)
A different student in Year 11 has a height of 148 em.
{b) Estimate the arm length of this student.

cm

(2)

(Total for Question 2 is 3 marks)

Pearson Edexcel - Wednesday 13 June 2012 - Paper 2 (Calculator) Higher Tier
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7 The scatter graph shows some information about 8 cars.
For cach car it shows the engine size, in litres, and the distance, in kilometres, the car
travels on one litre of petrol.
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{a) What type of correlation does the scatter graph show?

(1)
A different car of the same type has an engine size of 2.5 litres.
(k) Estimate the distance travelled on one litre of petrol by this car.

(Total for Question 7 ks 3 marks)

Pearson Edexcel - Wednesday 9 November 2011 - Paper 3 (Non-Calculator) Higher Tier
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11, Suzy did an experiment to study the times, in minates, it took 1 cm ice cubes

to melt at differemt temperatures.
Some information about her results is given in the scatter graph.
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Thi table shows information from two mone experiments.

Temperature (*C) 15 55

Time {Minutes) 2 15

(&) Onthe scatier graph, plot the information from the table.
i1

(b} Describe the relationship between the temperature and the time it takes
a | emice cube to melt.

i

{c) Find an estimaie for the time it takes a | em ice cube to melt when the iemperature
is 25 °C.

)

Suzys data cannot be used to predict how long it will take a | em jce cube to mel
when the temperatwre is 100 =2C.

(d) Explain wihy.

(1)
{Total 5 marks)

Pearson Edexcel - Monday 6 June 2011 - Paper 3 (Non-Calculator) Higher Tier
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1. Harriet resds eight books.
For each book she recorded the number of pages and the time she takes to read it

The scatter graph shows information about her resulis,
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(a) Describe the relationship between the number of pages in a book and the time Harriet
takes to read it

1

Harriet reads another ook
The book has 150 pages.

(b} Estimate the timee it takes Harriet to read it.

Pearson Edexcel - Friday 11 June 2010 - Paper 4 (Calculator) Higher Tier
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2. Mr Wilher sells umbrellas.

The scatter graph shows some information about the numiber of wmbrellas he sold and the
rainfall, in cm, each month kst year.
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In Jarnsary of this year, the rainfall was 6.1 em.
During January, Mr Wilher sold 32 umibrellas.
{a) Show this information on the scatler graph.
0]
{b) What typa of corelation does this scatter graph show?
(4]
In February of this year, Mr Wilher sold 40 umbrellas.
{c) Eslimate the rainfall for Febeuary.
. £
@
(Total 4 marks)

Pearson Edexcel - Tuesday 10 November 2009 - Paper 4 (Calculator) Higher Tier
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11. The scatter graph shows some imformation about 10 cars.
It shows the time, 1n seconds, it takes each car to go from 0 mph to 60 mph.
For each car, 1t also shows the maximum speed, m mph.
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(a) What type of comrelation does this scatter graph show?

M
The time a car takes to go from 0 mph to 60 mph is 11 seconds.
(b) Estimate the maxmum speed for this car.
........................................ mph
(2)
(Total 3 marks)

OCR GSCE — Monday 9 November 2020 — Paper 6 (Calculator) Higher Tier
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1 Atravel agent records the duration and cost of the 15 flights he sold on one day.

The data for the first 13 flights are plotted on the scatter diagram.

(a) The data for the final two flights is:

Cost(£) gp
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Duration

210 minutes

1 hour 40 minutes

Cost

£130

£80

Plot these flights on the scatter diagram.

(b) The cost of one of the 15 flights had been discounted in a sale.

Circle the most likely flight on the scatter diagram.

[2]

(1



(¢) (i) Draw a line of best fit on the scatter diagram. [1]

(ii) Use your line of best fit to estimate the duration of a flight costing £90.

(eii) ... minutes [1]

(d) Explain why the travel agent should not use his records to estimate the cost of a 7 hour flight.

M



OCR GSCE - Tuesday 5 November 2019 - Paper 6 (Calculator) Higher Tier
22.

7 12 students take two tests.
Each test is out of 60.
The scatter diagram shows the results for 10 of the students.
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(a) The table shows the results for the other 2 students.

Test 1 36 38
Test 2 44 41

Plot these results on the scatter diagram.

(b) Describe the type of correlation shown in the scatter diagram.

U]



(c) (i) Draw a line of best fit on the scatter diagram. 11

(ii) Anocther student was absent for Test 2.
The student scored 40 marks on Test 1.

Use your line of bast fit to estimate a result for this student on Test 2.

(d) Work out the percentage of the 12 students whosa result on Test 1 is lower than thair result
on Test 2.

() . % 4]



OCR GSCE — Thursday 6 June 2019 — Paper 5 (Non-Calculator) Higher Tier
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5 The table shows the ages and values of 11 cars of the same model.

Age (years) TS RN 3 | 7 | 8 | 12
Value (thousands of pounds) | 92 | 6.0 | 12 [ 114 |23 |42 |34 |80 |56 | 50| 04

The points for the first 7 cars are plotted on the scatter diagram.
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{a) Plot the points for the remaining 4 cars. 2]

{b) Describe the type and strength of the comelation shown in the completed scatter diagram.

- [2]



{e) One car lost its value more quickly than the other cars.
On the scatter diagram, draw a circle around the point representing this car. [

{d) By drawing a line of best fit, estimate the value of a car that is 6 years old.

0 L @2

{e) Explain the limitations of using the equation of the line of best fit to estimate the value of a
car that is 16 years old.



OCR GSCE — Monday 12 November 2018 — Paper 6 (Calculator) Higher Tier
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1 In a dance competition, two judges each award scores out of 30.
The scatter diagram shows the scores awarded to the first 10 dancers.
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(a) Here are the scores for the next two dancers.
Judge A 21
Judge B 18 8

Plot their scores on the scatter diagram.

(1



(b) Dancers who are awarded a score of more than 20 by both judges receive a medal.

For the 12 dancers, express the ratio of medal winners to non-medal winners in its simplest
form.

(B) o T [3]
(c) This chart shows the types of dance performed by the 12 dancers.

3 performed a street dance, 8 performed a jazz dance and 1 performed a tap dance.

Why is this diagram misleading?



OCR GSCE - Thursday 24 May 2018 — Paper 4 (Calculator) Higher Tier

25.

4 Les wishes to find out if there is a ralationship between a person's age and the tima it takes them

to complete a puzzle.

Les decides to conduct an axperiment.

Sha asks 12 paople io complate the puzzie.

She records each person's age and the time taken to complete the puzzie.

(a) Make one cribicism of Lee’s method.

{b) This scatter diagram shows the results for ten of the people in Lee’s experiment.
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Hera are the ofhar two results.
Age (years) 47 60
Time (seconds) 21 3
2

Plat these results on the scatier diagram.

{c} What type of correlation is shown in the scatter diagram?



(d) Estimate the time it would take a parson aged 35 to complete the puzzle.

Shiow your working o justify your answer.

1| S

(e} Lea says that at keast B0% of the 12 people completed the puzzle in under 30 saconds.

Is Lee comact?
Show working fo support your answer.



OCR GSCE - Thursday 7 June 2018 — Paper 5 (Non - Calculator) Higher Tier

26.
18 Ceri records the time taken, { minutes, to travel to school for a sample of 168 studenis at her
Academy.

Time taken

(t minutes) Fraquency
0<t=10 54

10<t=20 50

20 = = 40 44

40 < t= 80 20

(a) Draw a histogram to represent this information.
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[4]



(B) Ceri says
The langest time that any of these students took to travel to school was 80 minutes,

Is she comrect?
Give a reason for your answar.

1]

(e) Cerialso claims that 25% of all of the students at this Academy took maorne than 30 minutes to
travel to school.

(i) Show how Ceri might have worked out her claim. [2]1

(ii} State one assumption that Ceri has made in making her claim.

1
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4  The scatter diagram shows the results of 17 students in their French test and their German test.

Both tests are out of 100.
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(a) Here are the results of another 4 students.
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Plot these results on the scatter diagram.

[2]

(b) Describe the type and strength of the correlation shown in this diagram.



(c) Work out the percentage of the students whose German result was higher
than their French result.
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28.
3 (a) The owner of a tourist attraction records the amount of rainfall, in millimetres, and the number

of visitors each day.
The results for 10 days are shown in the scatter diagram.
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(i) Circle the outlier on the scatter diagram. 1

{if) The owner claims that he would expect around 320 visitors on a day with 2mm of rainfall.

Does the scatter diagram support his statement?
Explain how you made your decision.

-2

(iii) Explain why the scatter diagram should not be used to estimate the number of visitors on
a day with 9mm of rainfall.



{b} The pie chart summarises information about the visitors to the tourist atiraction on a different
day.

Explain why the pie chart cannot be used to work out how many adults visited on that day.
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29.

6 Johnwants to investigate whether men in the UK are better at estimating a time interval of
10 seconds than women in the UK. He decides to sample the population by asking his work
colleagues to take the test.

The diagrams below summarise John's results.
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(a) What information from the diagrams can be used to support each of these statements?
(I} The alder John's colleagues are, the lower their estimate is.

(i) Males in the sample tend to underestimate the interval and females in the sample
tend to overestimate the interval,

(b) Comment on whether any conclusions can be drawn for the UK population from the results
of this sample.



A and B are scatter graphs.

Graph A

AQA GSCE - Tuesday 19 May 2020 - Paper 1 (Non - Calculator) Higher Tier

Graph B

W

W

What type of correlation is shown by each graph?

Choose from

Weak positive
Strong positive
Weak negative
Strong negative
Mo correlation

[2 marks]

Graph A

Graph B



AQA GSCE - Sample Paper 1 (Non - Calculator) Higher Tier
31.

5 The scatter graph shows the age and the price of 18 cars.

The cars are all the same make and model.
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Use a line of best fit to estimate the price of a 6-year old car.

Answer £

[2 marks]




